AUC(AUC_VI) - AUC(ER_VI)

01 02 03 04 05

0.0

-0.2

n =100

Class Imbalance Level

P values
0.0813 0.3937 0.1048 0.9684 0.0387 0
-
1
|
1
- X
| 1
| 1
| 1
| |
_ 1
. s ; !
- | | ,
! | |
1] ]
I+I  I— | T
1
S | : :
o o —_— 1
° |
-
T T T T T T
50% 40% 30% 20% 10% 5%

AUC(AUC_VI) - AUC(ER_VI)

01 02 03 04 05

0.0

-0.2

n =500

P values

0.203 04777 04497 02982 0859 00771 0
: . S S
. o ¥ g —— | :
I I I I I I I
50% 40% 30% 20% 10% 5% 1%

Class Imbalance Level

AUC(AUC_VI) - AUC(ER_VI)

01 02 03 04 05

0.0

-0.2

n = 1000

P values
NaN NaN 0.3197 0.2502 0.0444 0.0629 0
8 ’ 5 !
i :
T T T T T T T
50% 40% 30% 20% 10% 5% 1%

Class Imbalance Level




